Test je kennis /m § 2.3

Theorie

32_33:32+3=35 33'23:(3'2)3=63 (33)2:33-2:36

3" _qaa 6' _(6)_ :
(_33)3: 333 _ 36

AN

a(b + ¢) = ab+ac

AN

2a(Bb+2)=2a-3b+2a-2=6ab+4a

A~

(@a+b)(c+d)=ac+ad+bc+hbd

1 a. 9-9'= f, (322)6:
b. 2= 9. (5°) =
c. 4°.43- h. ((—5)2)3=
d. 125°.8° = o7 gt
o 2 ()
2. Herleid:

a. 2a+9b+5a+8b=
b. 2a-5b-4a--9b =
7 7 4 7

c. X' -y -x"-y'=

d. —4X3 . (—5X4) =

f. (-3ab?) = 2.0.2.




3. Herleid:
a. ba-4(2a-8)=
b. 2(x + 6y) - 3(2x — 3y) =
c. @-5Mb+7)=
d. (a - 3b)(a+b)-(a® - 15ab) =



